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graph G
source = s
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INITIALIZE -SINGLE
-SOURCE(G,s)
S = Φ
Q = G .V
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s=EXTRACT-MIN(Q)
S = {s}
Q = {t, x , y , z}
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Relax(s, t,w)
S = {s}
Q = {t, x , y , z}
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Relax(s, t,w)
S = {s}
Q = {t, x , y , z}
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Relax(s, y ,w)
S = {s}
Q = {t, x , y , z}
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Relax(s, y ,w)
S = {s}
Q = {t, x , y , z}
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S = {s}
Q = {t, x , y , z}
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y=EXTRACT-MIN(Q)
S = {s, y}
Q = {t, x , z}
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Relax(y , t,w)
S = {s, y}
Q = {t, x , z}
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Relax(y , t,w)
S = {s, y}
Q = {t, x , z}
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Relax(y , x ,w)
S = {s, y}
Q = {t, x , z}
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Relax(y , x ,w)
S = {s, y}
Q = {t, x , z}
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Relax(y , z ,w)
S = {s, y}
Q = {t, x , z}
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Relax(y , z ,w)
S = {s, y}
Q = {t, x , z}
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S = {s, y}
Q = {t, x , z}
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z=EXTRACT-MIN(Q)
S = {s, y , z}
Q = {t, x}
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Relax(z , s,w)
S = {s, y , z}
Q = {t, x}
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Relax(z , x ,w)
S = {s, y , z}
Q = {t, x}
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Relax(z , x ,w)
S = {s, y , z}
Q = {t, x}
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S = {s, y , z}
Q = {t, x}
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t=EXTRACT-MIN(Q)
S = {s, y , z , t}
Q = {x}
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Relax(t, y ,w)
S = {s, y , z , t}
Q = {x}
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Relax(t, x ,w)
S = {s, y , z , t}
Q = {x}
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Relax(t, x ,w)
S = {s, y , z , t}
Q = {x}
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S = {s, y , z , t}
Q = {x}
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x=EXTRACT-MIN(Q)
S = G .V
Q = Φ
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Relax(x , z ,w)
S = G .V
Q = Φ
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S = G .V
Q = Φ
Done!


